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Chapter 2  The Metric System

1) Which of the following is a basic unit and symbol in the metric system?

A) meter (m)

B) gram (g)

C) liter (L)

D) all of the above

E) none of the above
2) Which of the following is a basic unit and symbol in the metric system?

A) centimeter (cm)

B) kilogram (kg)

C) milliliter (mL)

D) all of the above

E) none of the above

3) Which of the following is a basic unit and symbol in the metric system?

A) decimeter (dm)

B) gram (gm)

C) liter (L)

D) all of the above

E) none of the above

4) What is the symbol for the metric unit micrometer?

A) cm

B) mm

C) Mm

D) µm

E) none of the above

5) What is the symbol for the metric unit nanogram?

A) mg

B) Ng

C) ng

D) µg

E) none of the above

6) What is the symbol for the metric unit microliter?

A) cL

B) mL

C) ML

D) µL

E) none of the above

7) What is the name corresponding to the metric symbol km?

A) kilomega

B) kilometer

C) kilomicro

D) kilomilli

E) none of the above

8) What is the name corresponding to the metric symbol dg?

A) decagram

B) decigram

C) dekagram

D) dekigram

E) none of the above

9) What is the name corresponding to the metric symbol mL?

A) megaliter

B) metroliter

C) microliter

D) milliliter

E) none of the above

10) What quantity is expressed by the metric unit centimeter?

A) length

B) mass

C) volume

D) time

E) none of the above

11) What quantity is expressed by the metric unit kilogram?

A) length

B) mass

C) volume

D) time

E) none of the above

12) What quantity is expressed by the metric unit milliliter?

A) length

B) mass

C) volume

D) time

E) none of the above

13) According to the metric system, 1 ML = L.

A) 1 × 106

B) 1 × 103

C) 1 × 10-3

D) 1 × 10-6

E) none of the above

14) According to the metric system, 1 g = cg.

A) 1 × 102

B) 1 × 101

C) 1 × 10-1

D) 1 × 10-2

E) none of the above

15) According to the metric system, 1 L = mL.

A) 1 × 103

B) 1 × 102

C) 1 × 10-2

D) 1 × 10-3

E) none of the above

16) What is the first step in the unit analysis method of problem solving?

A) Write down the unit asked for in the answer.

B) Write down the given value related to the answer.

C) Apply a unit factor to convert a unit in the given value.

D) Round off the answer in the calculator display.

E) none of the above

17) What is the second step in the unit analysis method of problem solving?

A) Write down the unit asked for in the answer.

B) Write down the given value related to the answer.

C) Apply a unit factor to convert a unit in the given value.

D) Round off the answer in the calculator display.

E) none of the above

18) What is the third step in the unit analysis method of problem solving?

A) Write down the unit asked for in the answer.

B) Write down the given value related to the answer.

C) Apply a unit factor to convert a unit in the given value.

D) Round off the answer in the calculator display.

E) none of the above

19) What is the three-step sequence in applying the unit analysis method?

A) 1—unknown unit, 2—unit factor, 3—relevant given value

B) 1—unknown unit, 2—relevant given value, 3—unit factor

C) 1—relevant given value, 2—unknown unit, 3—unit factor

D) 1—unit factor, 2—unknown unit, 3—relevant given value

E) 1—unit factor, 2—relevant given value, 3—unknown unit

20) Which of the following unit factors is derived from 1 meter = 100 centimeters?

A) 1 m/1 cm

B) 100 cm/100 m

C) 1 m/100 cm

D) 1 cm/100 m

E) none of the above

21) Which of the following unit factors is derived from 1 kilogram = 1000 grams?

A) 1 g/1 kg

B) 1000 kg/1000 g

C) 1 g/1000 kg

D) 1 kg/1000 g

E) none of the above

22) Which of the following unit factors is derived from 1 liter = 1000 milliliters?

A) 1 L/1 mL

B) 1000 mL/1000 L

C) 1 L/1000 mL

D) 1 mL/1000 L

E) none of the above

23) If a 20.0 mL test tube measures 15.0 cm, what is the length in meters?

A) 0.150 m

B) 1.50 m

C) 15.0 m

D) 1500 m

E) none of the above

24) If a 250 mL beaker weighs 95.4 g, what is the mass in kilograms?

A) 0.0954 kg

B) 0.954 kg

C) 95.4 kg

D) 95,400 kg

E) none of the above

25) If a 125 mL Erlenmeyer flask weighs 88.5 g, what is the volume in liters?

A) 0.125 L

B) 1.25 L

C) 125 L

D) 125,000 L

E) none of the above

26) If an automobile airbag inflates in 25 µs, what is the time in seconds?

A) 0.000 025 s

B) 0.000 25 s

C) 25,000 s

D) 25,000,000 s

E) none of the above

27) If a downhill ski measures 185 cm, what is the length in decimeters?

A) 1.85 dm

B) 18.5 dm

C) 1850 dm

D) 18,500 dm

E) none of the above
28) A sample of white gold is: 18.0 g gold, 3.0 g silver, 2.0 g cobalt, and 1.0 g platinum. What is the percent platinum in the sample?

A) 4.2%

B) 8.3%

C) 13%

D) 25%

E) 75%

29) A sample of rose gold is: 12.0 g gold, 5.0 g silver, and 7.0 g copper. What is the percent copper in the sample?

A) 12%

B) 29%

C) 50%

D) 58%

E) 75%

30) A 1980 penny has a mass of 3.015 g and is 95.0% copper. What is the mass of copper in the coin?

A) 0.151 g

B) 0.286 g

C) 0.603 g

D) 1.51 g

E) 2.86 g

31) If a brass rectangular solid measures 3.80 cm by 2.55 cm by 1.25 cm, what is the volume of the solid?

A) 0.0826 cm3

B) 1.19 cm3

C) 1.86 cm3

D) 7.75 cm3

E) 12.1 cm3

32) If a copper rectangular solid measures 5.15 cm by 1.25 cm by 1.25 cm, what is the volume of the solid?

A) 0.124 cm3

B) 3.30 cm3

C) 4.12 cm3

D) 6.44 cm3

E) 8.05 cm3

33) If a bronze solid has a volume of 25.5 cm3, what is the volume in cubic inches?

A) 1.56 in.3

B) 3.95 in.3

C) 10.0 in.3

D) 64.8 in.3

E) 418 in.3
34) A 10.0 mL volume of alcohol has a mass of 7.89 g. What is the density of the alcohol in grams per milliliter?

A) 0.0789 g/mL

B) 0.789 g/mL

C) 7.89 g/mL

D) 10.0 g/mL

E) 78.9 g/mL
35) A 10.0 mL volume of ether has a mass of 7.14 g. What is the density of the ether in grams per milliliter?

A) 0.0714 g/mL

B) 0.714 g/mL

C) 7.14 g/mL

D) 10.0 g/mL

E) 71.4 g/mL

36) A block of aluminum has a mass of 39.589 g and measures 5.10 cm by 2.50 cm by 1.15 cm. What is the density of the rectangular aluminum block?

A) 0.370 g/cm3

B) 2.70 g/cm3

C) 3.11 g/cm3

D) 14.7 g/cm3

E) 22.3 g/cm3

37) The density of ethanol is 0.789 g/mL. What is the volume of 35.5 g of ethanol?

A) 2.80 mL

B) 4.50 mL

C) 28.0 mL

D) 45.0 mL

E) 280 mL

38) Liquid xenon boils at 166 K. What is the boiling point on the Celsius scale?

A) -439 °C

B) -107°C

C) 166 °C

D) 107°C

E) 439 °C
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